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MATHEMATICS By Pradeep Sir

l < -/ N [ Q. 1) x is a negative number such that k + k~! = -2, then
[ — z
<. what is the value of 222 7
k“+k-5

x TP BUTHD SN A TPR e P k + k! = -2 g ot

k% +4k-2 N —
—— BT A T8
k-o-—’l(’ = NoZ 7 —
c -
< = -1 (d) -1
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Q.2)If (x + i-) = 5v2, then what is the value of (x* +
™)1
afe (x +3) =5VZ 8, @ (x* + x~*) BT HH I B

(a) 2542
(b) 2650

‘c' 2452
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Q. 4) Study the given chart and answer the following
question.

a;;ahan 2:;6\ feu e 91 @1 g oY R FRufaf@a uy s3I S
Au

Gujara®y Production of steel (in mn units)
Tamil Nadu "

What is the central angle corresponding to the
production steel by Kerala?

YA GRT LA S IAGT & JGET SEIT B0 T 82
(a) 82 =~ — '

(b) 65.8°

(c) 75.2°

L

a = A
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Q. 5) A shopkeeper makes a net profit of 44% on selling
an article at successive discounts of 10% and 20%. Find

oD 7 th rofi r , if the shopk lls th
pe ST o ieiom & fusiinyduper ik s
5l TS a¥g DI 10% R 20% B HAS e W
P Iy  14uxr85S %aﬁmai_rg%maﬁam%lﬂﬁ ks
\ 0O I g B 15% me%,mggmq[%m“
- (a) 50%
Ce 2 °f
. Sy x &S (930%
—= (d) 40%
| 00
p—
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Q. 6) What will be the value of /&7 HI9 &I g2

sin&0° sin40°sin50° sjr60°
cy&ﬂfcwwprfow
(a) %
(b) V3
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Q. 7) What is the ratio between the HCF and LCM of the
numbers whose LCM is 48 and the product of the
numbers is 384?

I B3t & HewH JHUGA® (HCF) 3R agaH I
(LCM) & g BT FUTd T ¢ o1 agad JHIad
(LCM) 48 B 3R TBIIafl &1 UI-Ge 38482
(a)1:4 L— T =

(c) 1:3

(d) 2:5
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le'l- = —5 Q. 8) The price of a scooter increases successively by
10%, 5% and 15%. What is the total percentage increase
Eg- = i » in price of scooter ?
20 $ TP d Hed # BP dR W 10%5% MR 15% Bt
3 it 81 ¥Ppex Pl DI H Pd fba- Hiad #1 Ifs g5 o
5k, ==\
(b) 345%
(c) 30— %
lo > I (d) 36— %
. 3|
Q0 @ A& X S1k23 }
Jo XD 533
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Q. 10) The average of the marks of 25 students in a class,
in an examination was calculated to be 19. Later, the

teacher realized that the marks of two students were
taken as 18 and 19 respectively, instead of 14 and 15.
Find the new actual average marks of the class.

_ 8 qfta ® U FaT A 25 Bl F AB! BT U7
19 25 gﬁ,&w?wmﬁm$W1 s &
O T | HHN: 18 3R 19 o v & FE &1 T
qreafa® 3d 3P FTd DI —
[q - 6:3% (a) 17.43
) 8"0‘9 (b) 16.56
» 186

a (d) 17.65
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Q. 12) The value of (sin30°cos60° — cos30°sin60°) is
CLTE] tg -

(sin@gosfg{s’&sin c0'S @1 wr Bra & @

———_
a) —cos 30°
_

(c) cos 30°
(d) sin30°
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Q. 13) What is the ratio of the mean proportional
between 1.6 and 3.6 and the third proportional of 5 and

87? —~
e v 1.6aﬁ?3.6$a°taum1§tmﬂamﬁﬁn%fa?ﬁum?ﬂm
SqUERIE? T T
‘_—' : (a) 2:15
- (d) 4:15
o | AL
3 16
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151 3 7\ Q. 14) The difference between the cost price and selling
’ Yy price of a pair of shoes is Rs.1,200. If the profit is 15%,

the selling pric%;s : .
#4- - 3fav
Cp SP XE%%mmga q;aqutér
(a) Rs.8,200 N
(c) Rs.8,000
(d) Rs.9,000

’* -~

=l Co=122°
cP = | Q 090

—
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Q. 15) A person lent certain sum of money at the annual
rate of 25 percent on simple interest. In 6 years the

interest amounted to Rs.360 more than the sum lent.
What is the sum lent ?

ve ofed fedt Afda _}ﬁ'zsuﬁrﬂmﬁaﬁﬁaﬁ

HIYRY &S W) SYR ¢l
R | 360 TUR m%uaﬂlﬁﬁg ni

(a) Rs.600
(b) Rs.360

(d) Rs.540
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Q. 16) The side of an equilateral triangle is 12 cm . What
is the radius of the circle circumscribing this equilateral

C l.'V‘ Connn = i‘."..- triangle ? ]
——— s i 12 9.41. 81 39 9HEg C |
I's uﬁﬂgqg?%aﬁ m“flgmr TR ? i n
_() \/3 c
_ l‘z (C) 9v3 cm
R T —a Yy ﬁ (d) 5V3 cm
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Q. 19) The table given below shows the number of
persons participating in a survey from 6 different states.

S1 100 |
4= & 12 arferer 6 fafim =gl | v gdaor d 4rT &1
s KR Fo e b+ A

What is the ratio of number of person participating in a
survey from state S3 to the number of person
participating in a survey from state S4?

T S3 | AU | UIT &4 aTat safqadl &t &I &1 Id
S4 | WAL § U A ara aAfRal 1 FBIT A urd &1

82

E)VER
(b) 5:4

States | Persons
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Q. 20) What is the remainder when 8127 is divided by 8 ?
8127 %1 8 | T ¢ W AUHH T g1
(a) 5
133
g (C) 4
()X
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Q. 21) A, B and C can complete a piece of work
separately in 10, 20 and 40 days, respectively. In how
many days will the work be completed if A is assisted by
both B and C every third day?

%,Baﬁvcwa%r&:%m%mmzm,zoahuoﬁ#
&Y 9Pd 21 afe A B TS ﬁgggﬁ'{cgﬁf
ﬁmmaﬁmamﬁﬁ%ﬁﬁﬁq QT gHm?

(c)1o§
(d)é6
39 — S
%2 X 2,
G — &0
| D Y
| D %% 2
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Q. 23) A hemisphere of lead of radius 4 cm is cast into a
right circular cone of height 72 cm. What is the radius of

the base of the cone ?
4cmﬁmm€hﬂ'&$wm&ﬁaﬁ7zcm HTaW
g_quﬂua@ﬁmm%ﬁmﬁ Co)

(a) 1.63 cm

N 2 27 (b)1.35cm
V

(d) 1.45 cm
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Q. 25) O is the centre of this circle. Tangent drawn from a
point P, touches the circle at Q. If PQ = 24 cm and 0Q =
10 cm, then what is the value of OP?

O T Il da ol Mg pA TN WA @M TTHI QW
Wl Bt 81 9fe pQ = 24 At 3R 0q = 10 A7 B, A oP
(c) 13 cm

e 518 cn
H'/’ o K
m” M/

(b) 52 cm




